




Notes: Morningstar Investor Return assumes that the growth of a fund’s total net assets for a given period is driven by market returns and investor cash flow. To calculate 
investor return, a fund’s change in assets for the period is discounted by the return of the fund to isolate how much of the asset growth was driven by cash flow. A 
proprietary model, similar to an internal rate-of-return calculation, is then used to calculate a constant growth rate that links the beginning total net assets and periodic cash 
flows to the ending total net assets. Discrepancies in the return “difference” are due to rounding. 

Source: Morningstar, Inc. 
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